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c=3x 10% m/s
h=6.63 x 1073* Js
e=16x1019C
Ho=4m x 107" Tm A™?

g = 8.854 x 10712 C2 N-! m~2

1
e, = 9% 109 N m2 C2
TCSO

g 1 oM (m) = 9.1 x 1031 kg

214 1 GeqHH = 1.675 x 10727 kg
e =1 g™ = 1.673 x 1027 kg
JATENTIE! &1 = 6.023 x 1023 wfe um Aret

SieesmH =i = 1.38 x 10723 JK-!
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General Instructions :

Read the following instructions very carefully and follow them :

)
(1)
(iii)
()
(v)
(vr)
(vii)

This question paper contains 33 questions. All questions are
compulsory.

Question paper is divided into FIVE sections — Section A, B, C, D
and E.

Section A — Question number 1 to 16 are Multiple Choice (MCQ) type
questions. Each question carries 1 mark.

Section B - Question number 17 to 21 are Very Short Answer type
questions. Each question carries 2 mark.

Section C - Question number 22 to 28 are Short Answer type questions.
Each question carries 3 mark.

Section D : Question number 29 and 30 are Case-Based questions. Each
question carries 4 mark.

Section E — Question number 31 to 33 are Long Answer type questions.
Each question carries 5§ mark.

(viit) There is no overall choice given in the question paper. However, an internal

(ix)
(%)

2155/4/1

choice has been prouvided in few questions in all the Sections except
Section-A.

Kindly note that there is a separate question paper for Visually Impaired
candidates.

Use of calculators 1s NOT allowed.
You may use the following values of physical constants wherever necessary :
c=3x 108 m/s
h=6.63 x 10734 Js
e=16x10"19C
o = 47 x 107" Tm A1
gy = 8.854 X 1012 C2 N1 m2
1

e = 9% 109 N m2 C2
NSO

Mass of electron (m_) = 9.1 x 103! kg

Mass of neutron = 1.675 x 1027 kg

Mass of proton = 1.673 x 10727 kg

Avogadro’s number = 6.023 X 1023 per gram mole
Boltzmann constant = 1.38 x 10723 JK~!
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QUS - 16x 1=16
1. < Tmaw R T&% &1 3TE + q 8, Th-go ¥ ‘22’ gff W foa § | & | st
— 2q 3 QH1 o we forg R R & | 57 Frera <Y feforer &t 8 — 1
2 2
q 6q
@ 8mepa ® ~ 8mgga
_7q2 9q2
© 8mnega D) 8mnega

2. O HIuH @Y Ireieh el B, 3 B, I A —7 pC SN + 4 pC s few M F | &
S 1 Tepdt el HeieH Tig B, g1 6P ek H oTeht UL ek s fean 7o & | 31 afg avft
TGl TR 3T TR —2 pC &, A By T IRIRH STTei=1 3801 AT ? 1

A) —2pC B) -3pC
(€ —5pC (D) -15pC

3. TehTSI ! FATCH Yehid TehTRITGE]d TS oh SATEAT 36 Yeh ohid! & — 1

(A) 3Tafd TafeRToT i ehig T T Bidt & TEH %A T IS Soiag Icarrd el
B |

(B) WRI-SoidgHl shi STThaH Tl ol el ST TR i TG T FHR
HLA R |

(C) & 9Tg-T8 %I JT TR ST 3 A1 S TH 9=Td I8 H Soiagi= Scarsid aid @ |
(D) wepTr farga e 3rmafea faferom =t dtera w vt 7 et 2 |

4.  BISGISH I < SR-AISA H nafl Hafl 6l BT (r,) n o 91 FoFe TR foremon et & 2 1

A) r on ®) 1, o~
n
(©) rnocn2 (D) rnoci2
n
2155/4/1 4
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SECTION - A 16x1=16
1. Two charges + q each are kept ‘2a’ distance apart. A third charge — 2q is
placed midway between them. The potential energy of the system is — 1
2 2
q _ _6q
@ 8mnega B) 8mnega
_ 7> 9q>
© 8mnega D) 8mega

2. Two identical small conducting balls B; and B, are given —7 pC and + 4

pC charges respectively. They are brought in contact with a third identical
ball B; and then separated. If the final charge on each ball is -2 pC, the

initial charge on B; was 1
4) -2pC B) -3pC
(C) -5pC (D) -15pC

3. The quantum nature of light explains the observations on photoelectric
effect as — 1

(A) there is a minimum frequency of incident radiation below which no
electrons are emitted.

(B) the maximum kinetic energy of photoelectrons depends only on the
frequency of incident radiation.

(C) when the metal surface is illuminated, electrons are ejected from the
surface after sometime.

(D) the photoelectric current is independent of the intensity of incident
radiation.

4.  The radius (r,) of n*h orbit in Bohr model of hydrogen atom varies with n

as 1
@A) r «n ®) 1, o~
n
(©) rnocn2 (D) rnoci2
n
2155/4/1 5 P.T.O.
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5. Tondll WY R 1 qE-qfvem feen < srgfew &fasa: T mn ¢ | Afe 39 ar | g4 & ufeay
feom § g o1 gm0 yafEd 6 S, 1 fog W AR % S gk &7 i e R 3R

gt ? 1
@ w (B) uf=m
(C) W (D) e

6. TR Tiagreehia 9Tel i Trehid YA Bt & 1
(A) T IR FOHS (B) ¥ 3R Y-TcHS
(C) 3fYreh 3T ROTTcHeh (D) 3feres 3TR e-TcHeh

7. Tordt freaariet s st fatier 100 Q 8, 0.1 Q  FfqUe 7 ITAM hish (0 — 1 A)
ufter & uHter # ufafda foram mn 2 | =g for am %6 fetw qob S fagaor guiem, a7

YT g TTTHT 1
(A) 0.1 mA (B) 1mA
(C) 10mA (D) 0.1A

8. oo R foreht qumeer Wit A | € 9w I yeTted &1 @ R Iﬁ@Tr(:%)aSﬁv‘Fﬁ
AR IR B 1 A o T H Heohgl T@T 1 & | I B § Holg Jraehd Fored mfeTiaa

T fepgeh STISRATIAT & ? 1
(A) R B) JR
© R% (D) R2
9.  3T@ H gl 3G Y], Ttk Sehcdl Ly 3R L, 7, o Seh1a fama X, 1 v Amefd
m%wﬁmwm’mw%l%wm%— 1
XL/\ ’
L2
60° Ll
30°
0 >
1
A B —
A) V3 B) G
© 3 ® <
2155/4/1 6
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5. A straight wire is kept horizontally along east-west direction. If a steady
current flows in wire from east to west, the magnetic field at a point above

the wire will point towards 1
(A) East (B) West
(C) North (D) South

6. The magnetic susceptibility for a diamagnetic material is 1
(A) small and negative (B) small and positive
(C) large and negative (D) large and positive

7. A galvanometer of resistance 100 Q is converted into an ammeter of range
(0 — 1 A) using a resistance of 0.1 Q. The ammeter will show full scale

deflection for a current of about 1
(A) 0.1 mA (B) 1mA
(C) 10mA (D) 0.1A

8. A circular loop A of radius R carries a current I. Another circular loop B of

radius r(: %) is placed concentrically in the plane of A. The magnetic

flux linked with loop B is proportional to 1
(A) R B) VR

3
(C) R? (D) R?

9. Figure shows the variation of inductive reactance X; of two ideal

inductors of inductance L; and L,, with angular frequency o. The value of

h 18 1
Ly
XL A
Ly
60° Ll
30° .
0 >
1
A) V3 B) —=
J3
1
© 3 D) =
3
2155/4/1 7 P.T.O.
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10, 2-316 3 rafem s e el Fre g ot 3 Forg & B s g 8 B

& g hATR AT 8 — 1
A A B =

7T T
(0) B D) 1

11. N%ﬁaﬁaﬁéwmﬁmmgﬁwwﬁlﬂ%%ﬁ@ﬁ%ﬂ_ﬁ
veefl % 7 % AL | B § W B W B = B cos (%tjasmﬁwﬁamﬁm
8, T&1 T STTadehlol § | Hugent § INd emf 1 afmmr 518 auar 9 s1feepan g ag 8 1

_nT ~nT
A t= 5 B) t= o
©C) t= nT (D) t=nT

2
| n=1,2 3,4, ..

12. BTSN YA hl ST 0f} |, S8 €t T Q@1aii shi quTeed gedt & 98 Jdid sl & 1
(A) FHM gl 3R T e
(B) Th-gaLH Al gl o a1 et # 1feeh Yo
(C) TH-gE < fehe gl ox aT ciisrdn H 31k Joe
(D) Teh-gaL o ke gt o e disrar H 31 gl

A : T T 13 ¥ 16 H T H TG T & — Th 1 AHBYT (A) TAT GHL I HI
(R) oi&ie TohaT TRIT 8 | &9 U341 o 9! 39U 1 1 fer g (A), (B), (C) 31
(D) T & 934 il

(A) FIRHYF (A) IR SR (R) THI T & 3T SR (R) TR (A) hl HEt SR
2l

(B) IMRYF (A) 3R ST (R) THI T & T HRT (R) 3T1ReH (A) hl el SR
TEE |

(C) TRy (A) TF 8 3 HRU (R) 3EF 2 |

(D) =fe a1 3R (A) 3T HRT (R) 316 & |

13. AMNHYT (A) : et Tepr=1 R TR foh ST R TSieh o U8 & SoiereiHl ohl Scdsi ard
=
HRT (R) : N6 & HRIBe 1 gt 1 et FhTT o BIeH | Helg Sl 3T il 2 | 1
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10.

11.

12.

13.

- -
The phase difference between electric field E and magnetic field B in an
electromagnetic wave propagating along z-axis is — 1
(A) zero B) =
T T
C) -— D) —
©) 5 D) 1
- —
A coil of N turns is placed in a magnetic field B such that B
9

is perpendicular to the plane of the coil. B changes with time as

B = B, cos (Z—TT‘Et) where T is time period. The magnitude of emf induced

in the coil will be maximum at 1
(A) t= % B) t= nT
©) t=% D) t=nT

Here,n=1, 2, 3, 4, ...

In Balmer series of hydrogen atom, as the wavelength of spectral lines
decreases, they appear 1
(A) equally spaced and equally intense.

(B) further apart and stronger in intensity.

(C) closer together and stronger in intensity.

(D) closer together and weaker in intensity.

Note : For questions number 13 to 16, two statements are given — one

labelled Assertion (A) and the other labelled Reason (R). Select the

correct answer to these questions from the codes (A), (B), (C) and (D) as

given below :

(A) If both Assertion (A) and Reason (R) are true and Reason (R) is the
correct explanation of Assertion (A).

(B) If both Assertion (A) and Reason (R) are true and Reason (R) is not
the correct explanation of Assertion (A).

(C) If Assertion (A) is true and Reason (R) is false.

(D) If both Assertion (A) and Reason (R) are false.

Assertion (A) : Electrons are ejected from the surface of zinc when it is
irradiated by yellow light.

Reason (R) : Energy associated with a photon of yellow light is more
than the work function of zinc. 1

2155/4/1 9 P.T.O.
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14. AHYA (A) : grgaAi o fofu gfaig a9 Tunes gATeHs T2 p-UhR o F=TeAhI & foTg
SfeRIer T TUTTeh SROTIcHe BT 2 |
RO (R) : GTGA H ST AT8eh ROTCRIG Bld & Sd(eh p-YehR o HLATCTh] § T5HETh
SO ATEh YR B & | 1

15. AU (A) : 5 fordft =TeTes | Soiare = T 3TUaTE BIdT & ol 39ehT I8 319 €1 8T 8 T
39 1otk o At g St @ feum 4 ifem £ |

HROT (R) : 3TIATE T ST b Fad ATgodeh ol T STEIRITIT B1elT & | 1

16. ARHRYT (A) : ThTT o TN TR fac T TemTT Iooll Ueh Y& H TS Tl & 3TR 18
hTeAl Shst Ica=T Tt 3 | fortt 37 Yoo H I o¢ S1d) 8 3R 1S Tmehicd! he
IO H S |

HIOT (R) : UET 39 IO ¥ BIAT 7, T AR IR T ht uiereaal T Sl o
T A 211 § | 1

LCLCERC 5x2=10

17. Tt p-n G SEE &1 (1) SfeRms e IR (11) ITEeREh SET T UNuY ARG
Hiferw | 57 QM1 JeRtn | 1-V s1firererfores ot Eifera | 2

18. %@Wﬁaﬁtﬁﬁ@mmaﬁﬁﬁmﬁﬁm-v 3RV, % G 36 TR @i
Ww%mﬁﬁaﬁﬁima@ﬁvfwél sn?raﬁﬁml 2

19. IS TehTST fohTuT TUEHTh | o THETE Sid o FISH ® Holeh T SATTeTaq TTIa- i
2 | 9 38 Tren w1 foneft uresft urem o quid: g Sman & @ 9 Jeqor ok i & foh
i fontor ST eteh ohl Sieh—3Teh TIT hidll & | 3 HILAW h STISHIE ST hITaTT | 2

20. dieedt VR & T giedi & wfaa sigudieh P, 3R P, 2 | 31 M &l dc diced V & 207t
T ST a1 T B | ST S HESH g UM I STd SIS | Ife 3 ST bl aeH
I 8 q1ed § S T3 S, o A g I Sifed STYeR shaft ? 2
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14. Assertion (A) : The temperature coefficient of resistance is positive for
metals and negative for p-type semiconductors.

Reason (R) : The charge carriers in metals are negatively charged,
whereas the majority charge carriers in p-type semiconductors are
positively charged. 1

15. Assertion (A) : When electrons drift in a conductor, it does not mean that
all free electrons in the conductor are moving in the same direction.

Reason (R) : The drift velocity is superposed over large random velocities
of electrons. 1

16. Assertion (A) : In interference and diffraction of light, light energy
reduces in one region producing a dark fringe. It increases in another
region and produces a bright fringe.

Reason (R) : This happens because energy is not conserved in the

phenomena of interference and diffraction. 1
SECTION - B 5x2=10

17. Draw the circuit diagram of a p-n junction diode in (i) forward biasing and
(11) reverse biasing. Also draw its I-V characteristics in the two cases. 2

18. A proton and a-particle are accelerated through different potentials V;
and V, respectively so that they have the same de Broglie wavelengths.

Find & . 2
2

19. A ray of light is incident normally on one face of an equilateral glass
prism of refractive index pu. When the prism is completely immersed in a
transparent medium, it is observed that the emergent ray just grazes the
adjacent face. Find the refractive index of the medium. 2

20. Two electric heaters have power ratings P, and P,, at voltage V. They are

connected in series to a dc source of voltage V. Find the power consumed
by the combination. Will they consume the same power if connected in
parallel across the same source ? 2

2155/4/1 11 P.T.O.
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21. (a) @ H TN FAER UG 1.5 3T BT 40 cm & fopeft e & Mol § S8

1Y 1 gagent fog B (CB = 20 cm) W %E M1 7 | fog P & 8107 %t W 34
FeTael o Sfafersr <l wepfa TR feurfe wma it | 2

(b) Torsfl aTTar glayieh & AT FHRISE § STTHGRa 3T T oF o o= 6l gl
1.00 m 2 | AfE 36 GLaRIeh shi LA &HAT 19 7, A1 TG IR AN oF 6l

HIehE gl AT T | 2
@ ug -1 7x3=21
22. (a) TYehT for@ues 3R AR T o= & s faved $Hifay | 3

(b) o,Pu?3 % forgued N 3R ,, U235 % forguea-Tull H FcAlereh q9HdT & | 3fg
UG o,Pu % 1 g Tt Tt o1 fo@ued &1 S, ot fhat ot (MeV #H)
TR BTt 7 Wifet forae ger 3ferd St 180 MeV # |

23. Tereht yew o forea & 59 yeBR T man 2 —

—> A
E =10x+4)1

&1 x I m T E 1 N/C ¥ foram w2 | o mon it ufesfora <hifste, Stafer foreft
HT=eh 37199 1 o ST T1T &

G (5m, 0)¥ (10 m, 0)
(i) (5m, 0)¥ (5 m, 10 m) dh 3

24. TSR HISFEH ST H JEhiv hIv (9) o &A1Y HHfaa Fehifofa ot (N) o fa=mer &1 gar
% forw o wifere | 3@ s gr sma 59 S st b1 fehrer weha 2, 3% fafw | 5@
TR H T <! fHehea Gl o foTg &stes T iR | 3

2155/4/1 12
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21. (a) An air bubble is trapped at point B (CB = 20 c¢m) in a glass sphere of
radius 40 cm and refractive index 1.5 as shown in figure. Find the
nature and position of the image of the bubble as seen by an observer
at point P. 2

P
._ ______
OR
(b) In normal adjustment, for a refracting telescope, the distance
between objective and eye piece lens is 1.00 m. If the magnifying
power of the telescope is 19, find the focal length of the objective and
the eyepiece lens. 2
SECTION - C 7x3=21
22. (a) Differentiate between nuclear fission and fusion. 3
(b) The fission properties of 4P111239 are very similar to those of 92U235.
How much energy (in MeV), is released if all the atoms in 1 g of pure
9 4Pu239 undergo fission ? The average energy released per fission is
180 MeV.

23. The electric field in a region is given by
—> A
E =(10x+4)i

where x 1s in m and E is in N/C. Calculate the amount of work done in
taking a unit charge from

1) (B m,0)to(10m,0)

(11) (b m,0)to (5 m, 10 m) 3

24. Draw the graph showing variation of scattered particles detected (N) with

the scattering angle (0) in Geiger-Marsden experiment. Write two

conclusions that you can draw from this graph. Obtain the expression for

the distance of closest approach in this experiment. 3
2155/4/1 13 P.T.O.
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25. mﬁmﬁzaa%ﬁgmBMﬁmaﬁaﬁﬁq 3
3R B 2R D
Ao—/\/\/\/\, g E
100 E——/— % 2R
6E ——
N M i 35 R F

26. 10 cm s &1 ®E FARR a1, SEE 1.0 A 911 S@1Rd 2 @ g 4oy a9 H @1 g |
3@ T T STER 36l qt H HIE T HuT IR «-3787 6 FAR 20 cm GH W |
1.0A

20 cm .

ﬁgOmﬁszﬁaﬁﬁ@ﬁ%%ﬁwwﬁﬁmﬁaﬁmﬁmﬁwwﬁaﬁ
S =feY, AT HIT | 3

27. Trafafaa oy & fore 3w i ST areft fagaereehia T 1 1 37R 35T qutesd
gt ferftg
() FM dfsat gomor
(i) AT T 1 TEg=A
(i) UfE o fg=me =1 3R 3

28. (a) (i) 3T Sehcd o1 THATYT 3 3Heh1 ST 9HTeh TAREU | 3
(ii) < e FHTE qRATICRRIl, [SHeh! TFaTs THH [, U 1 @@ N, 3R N,
AT BT v, 3R 1y (5ry) &, o S A=A Wehed o [T Ssfeh Fca
HIfTT |
DG
(b) Tirg graeh Ugre fohre Hed & ? TreehId S hi HehodHT 1 STANT Hieh IUTF
I 1 TERIAT T TG Frached oh SATEAT SHIFT | 3

2155/4/1 14
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25. Find the current in branch BM in the network shown : 3
3R B ¢ 2R p R
ApAAAN—2 +—AAAA—F E
4R 4R 4R
10 E—— 2R
6 F —/——
N M H G g F

26. A circular loop of radius 10 cm carrying current of 1.0 A lies in x-y plane.
A long straight wire lies in the same plane parallel to x-axis at a distance

of 20 cm as shown in figure.
1.0A

20111 . 2 x
i

Find the direction and value of current that has to be maintained in the
wire so that the net magnetic field at O is zero. 3

27. Name the electromagnetic waves with their wavelength range which are
used for

(1) FM radio broadcast
(11) detection of fracture in bones
(111) treatment of muscular strain 3

28. (a) (1) Define mutual inductance. Write its SI unit. 3

(1) Derive an expression for the mutual inductance of a system of
two long coaxial solenoids of same length /, having turns N, and

N, and of radii r; and r, (> r,).

OR
(b) What are ferromagnetic materials ? Explain ferromagnetism with
the help of suitable diagrams, using the concept of magnetic domain. 3
2155/4/1 15 P.T.O.
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Qg -9 2x4=8
e : T HEAT 29 W 30 HH UG WA 7 | F= TS Y 3178 1 1A ik W
& I T |

29. Ge I Si S g €T 1 91a foreht 3fera uger i 3767 AET A H1e foRan STt &
qr g Irugeht refeTeres a9 STd 2 | AT\ U 3 seleele 3R foer digar A9 e
aTEsh] h! Higdl ¥ Heferd Bidl 8 | 3fd 319gesd & Willd 1 WIS p-Ueh R HAYET n-JhT
1 TS p-n G H uiafad feram <1 gepar 8 | fopet p-n gt & Fmior 4 € ufsremd
forror 3iR s1vaTe B § | 1 SreaTeTsh SRiTE Ue €9 @ %18 p-n HY & T & s @
ol o SITey Sfieedl % FIANT o 1w arg-weust yem foru oid & | 37w fefdmes smafia gn
T HTE p-n HY U 1 el Th & fezn § yenfed B9 o & | 360 o1 % shwor feet
SIS 1 ITANT Toreqd 9 H, 374 0T STUET U1 a0 STHTG=ITE1 § Jedmadt (ac) eedrsti
%ﬁw‘w%fwz%mm%l 4x1=4
(i) 59 Ge T ATGH THHASh UG % W1 oA ST 2, a1 STafises § goel-99 8

SIS FFZI oh! o HU o [oTT TR ol Bl & ST
(A) 0.001eV (B) 0.01eV
(C) 0.72eV D) 1.1eV
(i) Tepdl feu o o forefl referretes o A5t 31T dTEeh] 1 @@AT 2.0 x 1010 cm 3 B |
$HehT HIE TegaiSieh JTuge TRATIST & foram 7T 7 | 35eh uRomHEeEy ged foed
(B1eT) o T 8 x 103 cm 3 B AT 2 | 39 31ef=Tetes H Solae 1 oh! ST 2
A) 2x 1024 m3 (B) 4x 102 m3
(C) 1x10%2m3 D) 5x10%22m3
(i) (a) Tl p-n Gftr s sH7 T
(A) 3SR BT p-8F T n-8 1 IR FoTor BT 2 91 BIeAl BT n-8F
p-& <1 3R fererur g 2 |
(B) Sciae{ 3TN Bt THI o1 &1 n-&F 8 p-&1 shl 3R fI&or Bran 2 |
(C) SFHI T n-8F W p-&F shl TR oot BT 2 1 Bedl 1 p-&1F 9
n-&87 % AR foreor BT 2 |
(D) ST 3TR BIcT QFI b1 & p-&1F & n-&F 1 3TR foramur 2 2 |
YT
(iii) (b) TRt p-n Gftr < s gHF IO T
(A) oo um g8q q 319dTE 9T g B # |
(B) Torwor um o1 e S1uaTg €T g8 B § |
(C) TorEoT 9T qer ST9aTE 911 SHI & 98d Bidi & |
(D) e ury qe 379aTg € gl & g B B |
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SECTION -D 2x4=8
Note : Questions number 29 to 30 are Case Study based questions. Read
the following paragraph and answer the questions that follow.

29. A pure semiconductor like Ge or Si, when doped with a small amount of
suitable impurity, becomes an extrinsic semiconductor. In thermal
equilibrium, the electron and hole concentration in it are related to the
concentration of intrinsic charge carriers. A p-type or n-type
semiconductor can be converted into a p-n junction by doping it with
suitable 1impurity. Two processes, diffusion and drift take place during
formation of a p-n junction. A semiconductor diode is basically a p-n
junction with metallic contacts provided at the ends for the application of
an external voltage. A p-n junction diode allows currents to pass only in
one direction when it is forward biased. Due to this property, a diode is
widely used to rectify alternating voltages, in half-wave or full wave
configuration. 4x1=4
(1) When Ge is doped with pentavalent impurity, the energy required to

free the weakly bound electron from the dopant is about
(A) 0.001eV (B) 0.01eV
(C) 0.72eV (D) 1.1eV

(11) At a given temperature, the number of intrinsic charge carriers in a

semiconductor is 2.0 x 1019 cm™3. It is doped with pentavalent
impurity atoms. As a result, the number of holes in it becomes

8 x 103 cm™3. The number of electrons in the semiconductor is
A) 2x10**m3 B) 4x10*m3
(C) 1x10%2m3 (D) 5x 1022 m3
(111) (a) During the formation of a p-n junction —
(A) electrons diffuse from p-region into n-region and holes
diffuse from n-region into p-region.
(B) both electrons and holes diffuse from n-region into p-region.

(C) electrons diffuse from n-region into p-region and holes
diffuse from p-region into n-region.

(D) both electrons and holes diffuse from p-region into n-region.
OR
(111) (b) Imitially during the formation of a p-n junction —

(A) diffusion current is large and drift current is small.

(B) diffusion current is small and drift current is large.

(C) both the diffusion and the drift currents are large.

(D) Dboth the diffusion and the drift currents are small.
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(iv) TEt ac Sieedar V = 0.5 sin (100 =t) aice 1 SR-9R-1 § fopeft 31ef qu fewenrd

T qul q@r fewshrt o o & wafora fopam T 2 | 3ok ol X Fria dieedn

ST shEw: BT
(A) 25 Hz, 50 Hz (B) 25 Hz, 100 Hz
(C) 50 Hz, 50 Hz (D) 50 Hz, 100 Hz

30. 15 o8 &1 I8 § Tory uHT qnesf Yehtiies e 2t & ek Gl g81 § A § %H TH
et gHT AT | foreht weher Tiefa 98 gra e wfafers < fore g3t o1 o foreft <
o Q IB1 TR ShHeh T H hieh Tt oidl o foIg e g o of| Hert &1 37N 39 Wb g
H g7 W foRa ST @ | et o ot wiehw gft (3Tuen &fman) <9 % gl g8 ol
Trsanat qen gfqawr & g o9 & e & AU WX T wtar 2 | Tt uered
AT 3TN fehT MU Jehter shY dlTeed WX st ST B | @1 ohT SIS Sfed &THal
I IR & TG 3T AR =1 1 9T i T BAR TEEaT Hial 2 | 4x1=4

(i) 20 cm BRRH Gl 1 HIE TAAT JTER] TE 15 cm BIHE Gl o Tt FAE <F
o TP H AHTE T © | 39 TS ohl &l @ —

-5 -5
4 3
(©) 3 D D) 3 D

(ii) TRl 3T < % §1 BT sl Shar BrsAn R 311 2R 2 | 3fg 58 <@ 1 Bk gl
(gja%,zﬁﬁaasmwm%;

A) B)

©)
(i) Torel Ao o %1 BIRE gt

(A) I H G WEE A B |

(B) 3mufad YepTr 1 q@Teed ¥t BH W e ST 2 |

(C) 3 IST <hI Tshal F3saT § hHt EH T §g T 2 |

(D) T 37eT % Tfew S Hoaw Wi § h1e W W e A B |

D)

D|w W] o
o3 Wk

2155/4/1 18

:
Qcollegedunlas
IIIII ‘s largest Student Review Platform



e

(iv) An ac voltage V = 0.5 sin (100 =t) volt is applied, in turn, across a
half-wave rectifier and a full-wave rectifier. The frequency of the
output voltage across them respectively will be

(A) 25 Hz, 50 Hz (B) 25 Hz, 100 Hz
(C) 50 Hz, 50 Hz (D) 50 Hz, 100 Hz

30. A lens is a transparent optical medium bounded by two surfaces; at least
one of which should be spherical. Applying the formula of image formation
by a single spherical surface successively at the two surfaces of a thin
lens, a formula known as lens maker’s formula and hence the basic lens
formula can be obtained. The focal length (or power) of a lens depends on
the radii of its surfaces and the refractive index of its material with
respect to the surrounding medium. The refractive index of a material
depends on the wavelength of light used. Combination of lenses helps us
to obtain diverging or converging lenses of desired power and

magnification. 4x1=4

(1) A thin converging lens of focal length 20 cm and a thin diverging lens
of focal length 15 c¢m are placed coaxially in contact. The power of the
combination is

-5 -5

(A) ?D (B) Y D
4 3

©) 3 D D) 3 D

(11) The radii of curvature of two surfaces of a convex lens are R and 2R.
If the focal length of this lens is (g) R, the refractive index of the
material of the lens is :

(A) B)

DO|w W] ot
ol =3 Wk

©) (D)

(111) The focal length of an equiconvex lens
(A) 1increases when the lens is dipped in water.
(B) 1increases when the wavelength of incident light decreases.
(C) increases with decrease in radius of curvature of its surface.

(D) decreases when the lens is cut into two identical parts along its
principal axis.
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(iv) (a) 3@ H UMY JFER 10 cm HHH Gl T g I el oiF L 3R 15 ecm
HIehH gl T 15 FTaaet qUuT M Th-gal H 40 cm %1 gl R awie fRuq % |
& 3187 § TR g YT Iral oiF T 3T hidl & | JAfow Sfdfers o
% HIU&T el 3TN Fehat gl T & ?

L

M

k—— 40 cm —
(A) 10 cm, &9 & SRff 3R (B) 10 cm, &9 & SR AR

(C) 20 cm, &9 & aRff 3R (D) 20 cm, &F % TR AR
AT

(iv) (b) 16 cm I8 gl  fohell ITCT o L, T ehIg YehTl G, S 18 o H&H 31&
& HHHN 2, I HLIET & | 78 L, o T8 I3 3777 39 o L, feeht
®eRE gl 12 cm B, 40 cm g0 W @ @ | 3ifaw wffera & wepfa 3tk o™
L2ﬁ3ﬁtﬁ"'ﬁmz
(A) dTEdfesh, 24 cm (B) AWM, 12 cm
(C) dT&dfesh, 32 cm (D) JAMET, 18 cm

glg - 3x5=15
31. (a) () T a1 odur g femeht fomw o1 wfafers sa1 ev & foru fomeor s
e 3R 398 edur Feiehtor I shifere |
(i) SeRTSwER =T o 3Tfirgeas 3R T ofd (IfepT) GHT % fow sgares i
T ITANT T TS ST & ?
(iii) Tereft TR qamet g foreft o7 foreay o a1rael 200 % | feRT 31 wiRd gt 2
cm & A1 3w fdferd 30 W ST & | JHgeaes g1 3 TaeH A
i | 5
AYET
(b) () T 31 foreh foptor o offe fadies At |
(i) T fagra fRaT qen Suge 3T 1 SR Shich TS oh AT Sl T
IR |
(iii) = < Tgferd T o ffer S, 3R S, & 9 1 g8t 3 mm 8 U1 v
ot A gl 1.0 m & | a8 Weror forarm T 2 fob =ihefl =mehicit fihest goll et
551 9 5 mm 1 gl W E | 3T FohU ST Tt ThRI hl WA @ H | 5
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(iv) (a) A thin convex lens L of focal length 10 cm and a concave mirror
M of focal length 15 cm are placed coaxially 40 cm apart as
shown in figure. A beam of light coming parallel to the principal
axis 1s incident on the lens. The final image will be formed at a

distance of
L M

k—— 40 cm —
(A) 10 cm, left of lens (B) 10 cm, right of lens
(C) 20 cm, left of lens (D) 20 cm, right of lens
OR

(b) A beam of light coming parallel to the principal axis of a convex
lens L, of focal length 16 cm is incident on it. Another convex

lens L, of focal length 12 cm is placed coaxially at a distance 40
cm from L;. The nature and distance of the final image from L,

will be
(A) real, 24 cm (B) wvirtual, 12 cm
(C) real, 32 cm (D) wvirtual, 18 cm

SECTION - E 3x5=15

31. (a) (1) Draw a ray diagram for the formation of the image of an object
by a convex mirror. Hence, obtain the mirror equation.

(11) Why are multi-component lenses used for both the objective and
the eyepiece in optical instruments ?

(i11) The magnification of a small object produced by a compound
microscope 1s 200. The focal length of the eyepiece is 2 cm and
the final image is formed at infinity. Find the magnification
produced by the objective. 5

OR
(b) () Differentiate between a wavefront and a ray.

(1) State Huygen’s principle and verify laws of reflection using
suitable diagram.

@(iii)) In Young’s double slit experiment, the slits S; and S, are 3 mm

apart and the screen is placed 1.0 m away from the slits. It is
observed that the fourth bright fringe is at a distance of 5 mm
from the second dark fringe. Find the wavelength of light used. 5
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32. (a) (i) Toret TR Ufgeht QUM TSEeh! AfgehIa < e gehd d AT TigehIsT &1
AR A g, <hl qfgehiatl o s Wagdis ‘K’ 3R HICTE ‘%1 IS Teeh! W
TR | 38 YT Sl g1 o foru stk e Shifu |
(i) < faft= enftansty & qenfe 1 uger (1) Soft 3 3iR b (2) ared § fopeft 100 V
% dc EA § TN BRI TR 7 | AfE 37 QFT SRl § SAHT H |id el el
A 40 md IR 250 mdJ &, AT S e <hl e 3ird shifse | 5

JHAYAT
® @) WW%WW%W%WWmWW

TG o R Tehel foig W forq QSIE = 2 n ¥ a1 ] | Tgl gl
%:ﬂuﬁmﬂmzﬂé%l
(ii) Wmﬁﬁgﬁ%ﬁE 1 39 JehT SFerd ThdT 1T &

= (5x2 + 2)1
aﬁEaﬁN/CamxaﬁnﬁZﬁﬁWﬁo‘mw% |

39 T¢I § ST 10 cm o Foreft 9 61 3@ o quif sgam feua fopem e 2 |
TRER{eTd ST |

¥

=

(1) wmﬁﬂaéwﬁgﬁw,w
(2) 38 T g UiEg 9 A | 5

33. (a) (i) 3R hl Ieci@ HIC 5 TR forelt LOR Soft afte shi 371G <Al 31t
TR Sl 8 | SIS ac BIA i TR o 1 LCR oft ity shi e
T foreror o1 g < fore e St |
(i) IR TG hl FERIT H Tohelt IRt ZTAwh IR shi Shrifafer S =men Hife |
(iii) Tore arfeep TABIR | SHoll- 817 o T SRl fIRIT | 5

T
(b) (1) AG I TEEAT Y ot ac S i ST 3T SR i dey § =men Hif |
(i) 1S o fpfl MM Hrufrm B r N FMATA VAR @R | ™
SolagiA & Hag Jrachid ST < foTu Ssreh I shifTT | 5
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32. (a)

(b)

33. (a)

(b)

2155/4/1

(1) A dielectric slab of dielectric constant ‘K° and thickness ‘t’ is
inserted between plates of a parallel plate capacitor of plate
separation d and plate area A. Obtain an expression for its
capacitance.

(1) Two capacitors of different capacitances are connected first (1) in
series and then (2) in parallel across a dc source of 100 V. If the
total energy stored in the combination in the two cases are 40 mdJ

and 250 md respectively, find the capacitance of the capacitors. 5
OR N
(1) Using Gauss’s law, show that the electric field E at a point due to
a uniformly charged infinite plane sheet is given by E = % n
where symbols have their usual meanings.
(11) Electric field E in a region is given by
E = (5x2 + 2)?

where E is in N/C and x is in meters.
A cube of side 10 cm yis placed in the region as shown in figure.

%
E

Calculate (1) the electric flux through the cube, and (2) the net
charge enclosed by the cube. 5

(1) Mention the factors on which the resonant frequency of a series
LCR circuit depends. Plot a graph showing variation of
impedance of a series LCR circuit with the frequency of the
applied a.c. source.

(11) With the help of a suitable diagram, explain the working of a
step-up transformer.

(111) Write two causes of energy loss in a real transformer. 5

OR

(1) With the help of a diagram, briefly explain the construction and
working of ac generator.

(1) An electron is revolving around a proton in an orbit of radius r with
a speed v. Obtain expression for magnetic moment associated with
the electron. 5
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